


4) Look at the system of equations below.
y=5x+10

2
y==x—10

Which of these statements is correct?

@ The system has no solution.
b) The solution of the system is (—3,8).
c) The solution of the system is (6, —6).

d) The system has an infinite number of solutions.

5) The system of equations represented by lines p and q
is shown on the graph below.
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Based on the graph, what is the solution of the system of
equations?

a) (0,0)
b) (0,3)

d) (42)

6) Isaiah graphs the systemy = —5x —2 and

1 - I
— + 2 in the coordinate plane below.
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Which of the statements below is true?

a) The system has no solution because the point of
intersection of the two lines does not have
integer coordinates.

b) The system has infinitely many solutions because
the point of intersection of the two lines does not
have integer coordinates.

c) The solution of the system is (— %, 2 é)

The system has exactly one solution, but it is
impossible to determine the exact solution using
the graph of the system.
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7) Consider the system of linear equations below.

y=—-x+1
y=3%

Part A: Graph the system of equation on the coordinate plane below.
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Part B: What is the solution to the system of equations? Explain how your graph justifies your

T Gotokion (379)
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Part C: Check your solution by substituting your solution into both of the original equations to
show that it makes both equations true.

Y2-xy| Y’,%X"‘I
sy E= S ¥l -2 %(.3)-4
,’,]:.-2\/ -—;)s?-‘-‘
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8) Solve the following system using substitution.
g =3x+1
=2x+3

Byil=dxsd T
o A V22(2) 3
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Solve the following word problem.

9) Four times the first number plus the second number is -2. The sum of three times the first number and twice the
second number is 6.

-;’(L{x.]—lé;'?) -3X ’Qtﬁf(‘j '—{x;,\y,—’.l

Fadu = 0 3x ¥y ,
Ix =l x P TE = ) e
== 5 ':2,*%,{'(5
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Solve the following word problem.

10) Ata quick-lunch counter, three pretzels and one cup of soda cost $2.75. Two pretzels and one cup of soda cost
$2.00. Find the cost of a pretzel and the cost of a cup of soda.

\9"“’”""\5"* Bxkyed 1S Fxey RIS
Sodo- = ) X ( 2){ +"ﬁ: 2,00 >+,2x:35 ‘.'.."'2.0_0—'
x = 076_

A x rye Q0o
2(.75) ¥ y= .00

1.5 ¥ W= 2.00
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pretuls cost $0.7%
Codon COSFS $ 0,50
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